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Abstract

A computer program for the analysis of lateral buckling of wooden frame
structures is described.

The procedure is the finite element method based upon displacement method,
the buckling characteristic equation is obtained by employing the principle of
virtual work.

Data computed at each node include the deflections, rotations, axial dis-
placements, moments, shears and axial forces. The method is verified by
comparing measured and predicted behavior for wooden gable frames. A list-
ing of program, written in JIS FORTRAN is given. In addition, eigenvalue
is calculated with QR method.
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+86TATHT (V. H' A-'v—V,H' A-'u)} dz (8)

Z i,

ko = A-ITS:H’TPH’dzA-l, kg¥s = A-1T S:H'TM,H'dzA-l
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Fig. 1 Wooden gable frame,
Member of the frame: 206 wood
Er=120%x10%kg/cm?, G=7.2x10%kg/cm?
G.K,=1,56 X 10%kg/cm?, I,=7,76 % 10%cm®
Finite element analysis carried out for a half of
the frame and the number of elements and nodes
used for calculation are 19 and 20 respectively.
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¥AIN PROGRAM BUCKLING OF REAM~-COLUMN

IVEC=(Q NO EIGEN VECTOR

IVECs] YES EIGEN VECTOR

NF = TOTAL NODE NUMBER RECIEVED LOAD
A{1+J) = EIGEN VALUE MATRIX

IpL 5 0 IX PLANE

iPL = 1 ZY PLANE

COMMON  NOOE sNELMaNF oNT oNNs KOX9KOYsKOZsKSX9KSY9KSZ sMsIPL

COMMON  NKOX(30) s NKOY (302 yNKOZ(30) s NKSX(30) »NKSY(3015NKSZ(30)
COMMON  KGXsKGYsKG2? sKGSX1KGSY sKGSZyNKGX(30) 9NKGY (30) 5NKGZ(30)
COMMON  NKGSX(30) 9 NKGSY(30)»NKGS2(30) »X1(30),Y2(303+2(30)+F(180)
COMMON  ELX(35)ELY(35)2FLZ(35)»GK1(35)2GIW1(35)4A1(35),BRED(3S5)
COMMON  E2X(35) sE2Y(35) sFZZ(35) »GK(35) »GIW(35)»AR(35)4HIGH(35)
COMMON  ZIXX1(353»Z1YY1(35)» Z2IXX(35) »21YY(35) » MCON(35,3)
COMMON  ESM(12,312)sHEN(12,12)90(12512)9WD(12),W5(12)s TSM(35,12)
COMMON  DIS(180),RFAC(180), INDEX(180)»IND(180)y ESG(12,12)
COMMDN  DSM({180,180)sB(1R0+180),A(1005100),1C(10039E1GR(100)
COMMON  EJGI(100)»URC100+100),U1€10051003»PRR(2)sPRI(2)5PAN(2)
COMMON  TJGyNASNB, IVECSTERWN

CALL [INPUT

146 = 0

DO 505 M=]1,NELM

CALL ESMAT

CALL MAKOSM

CONTINUE

CALL REARG

CALL SV

CALL 0QUTK
BUCKLING OF BEAM~COLUMN

1J6 = 1

DO 515 M=1yNELM

CALL ESMAT

CALL EGMAT

CALL MAKNSM

CONT INUE

CALL REARG

CALL MATINV

DO 520 J=1,NN

DO 520 [=1sNN

AlTsJ) = O,

D0 520 K314NN
AllsJd) = A(LsJ) & OSM(LsKIHB(K )

[a¥a¥al

N=NN
NA=NN
NB&NN+3

WRITE(6+100) N,IVEC
100 FORMAT(1HL///6Xs5HINPUT/9Xs3HN =3 13/9Xs5HIVEC=s13/
2 /9X36HA(NIN) )

CALL EIGAR

WRITE(6+105)
105 FORMAT(1HO0»5Xs6HOUTPUT/6Xs 11HETGFN VALUE)

0D 59 I=1yN
EIGR(I) = 1,0/FIGR(I)
Do 60 I=1,N
60 WRITE(65115) FIGR(])
115 FORMAT(3X, 1PE15,7)
IF(IVEC,ER.0) GO TO 99
WRITE(6,120)
120 FORMAT(1H0,5X»12HEIGEN VFCTOR)
DB 70 Jzl,N
70 WRITE(62115) € URC(Isd)sUICTodds TN )

5

°

=)

DO 150 Is1NT
Dp 150 J=1
GSM(1,J) = 0,

150 8(1sJ) = 0,
DO 155 1=14N
DO 155 J=1sN

155 0SM{1»J) = UR(JsT)
D0 160 [=1,NN
1A = INDEX(D)
B0 160 J31,NN
JA = INDEX(J)

160 B(1AsJA) = OSM(IsJ)

DO 180 12143
tA = INDEX(I)
WRITE(69165) FIGR(])
165 FORMAT(1HO»12HEIGEN VALUE=»1PE15.7)

WRITE(6+170)
170 FORMAT(1HO»1Xs4HNODE ;10X SHDIS X5 10Xs5HDIS Ys10Xs5HDIS Zs9Xy
# 6HSITA X19X»6HSITA Y»9%s6HSITA Z2.)
K= 0
Jl = 1
172 CONTINUE
K = Kl
Jb = Jl+5
WRITE(62175) Ko (B(IAsd)sd=dlsi6)
J1 = J6el
IF(JL,GT.NT) GO TO 180
GO 10 172
175 FORMAT(IH +1511P6E15.4)
180 CONTINUE

99 STOP
END
SUBROUTINE INPUT

COMMON  NODE +NELMsNF oNToNNy KOX,KOYsKOZ)KSX5KSY,KSZ sMy JPL
COMMON  NKOX (303 »NKOY (30 sNKOZ(30) sNKSX(30) yNKSY {30) »NKSZ(30)
COMMON  KGXsKGY»KGZsKGSX#KGSY1KGSZyNKGX(30) sNKGY(30) 1NKGZ(30)
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10
15
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100

102

105

115

120
12
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COMMON  NKGSX(30) +NKGSY(30))NKGS2(30) +X1(30),¥1(30)»2(30),F(180)
COMMON  ELX(35),ELY(35)+EL2(35),6K1(35),G[WL(35)»A1(35),BRED(35)

COMMON  EZX(35) ,EZY(35) +£22(35) 26K{35)

sGIW(35),AR(35)sHIGH(35)

COMMON  ZIXX1(35)421YY1(35)s ZIXX(35) »Z]YY(35) » MCON(3513)
COMMON  ESM(12+12)sHEN(12512)90(12+12)eWD(12),W5(12)s TSM(35,12)
COMMON  DIS(180),REAC(180), INDEX(180)sIND(180)s ESG(12,12)
COMMON  0SM(180»180)98(180+180),A(1005100)»1C(100),EIGR(100)
COMMON  EIGIC100)sUR(1002100)»UI(10021007»PRR(2)PRI(2)sPAN(2)

COMMON  1JGsNASNB» IVEC, IER,N

FORMAT(1615)
FORMAT(BF10,0)
FORMAT(154+7F10,0)
FORMAT(5E10,2)

READ(5,10) NODENELMINFs [PLs IVEC

NT = NODE3#6

READ(5+10) KOXs KYs KOZ, K5Xs KSYs KS2
READ(5510) KGXs KGY» KG7y KGSXsKGSY2KGS2
DO 35 [=14NT

D@ 35 Js1sNT

OSM(I»)) = 0,

B(lsJy = 0,

MAX = 0

DO 100 I=1sNFLM

READ(5910) Ly (MCON(LJ)sJ2193)
MCON{Ls3) = MCON(L,3)+1
TF(MCON(L3),6T,MAX) MAXsMCON(L3)
CONTINUE

READ(S5+15) PRAIZsBAIX,RATY

DO 102 K=1sNODF

READ(5,20) 1+2(1)»X1C12sY1(1)
Z(1) 3 BAIZHZ(1)

X1¢1) = BAIX#X1(7)

Y1(1)= BATY®YL(D)

CONTINUE

NT=NODE#6
00 105 ]=21.NT
F(1)=0.

D0 115 Ksl,NF
READ(5+20) [9FXsFYsF2ZsFXS9FYSsF2S
F(é#l=5) = FX

F(o#le4) FY
F(o#l=3) = F2
F(6#l-2) = FXS
F(6%i-1) = FYS
Feoul) = F25
CONTINUE

IF(KOX,EQ,0) GO TO 120
READ(5,10) (NKDX(1)2]a1»KOX)
IF(KOY,EQ,0) GO TO 121
READ(5910) {NKOY(1)s1=1sKOY)
IF(K0Z,E0,0) GO TG 122
READ(5510) (NKOZ(1)»[=1:K02)

[aXa)

Nno

122
123
124

12%
126
127
128
129
130

131

250

135

14

3

150

50 FORMAT(1HOs5HNODES 155X sSHNELMZ s[5y 5Xe3HNF=s [535Xe4HIPL=s I
51 FORMAT(1HO ¢ 4HKOX® 215 05X s 4HKOYZ s 155X s4HKOZ = [595X 1 4HKSX2215»5%

52 FORMAT(1HO s 4HKGXE 125X 4HKGY 3y 12,5X24HKGZ=912,5%sTHSITA X=»12

1F(KSX.EQ,0) GO TO 123
READ(S5910) (NKSX{1)sI=1+KSX)
1IF(KSY ,EQ,0) 60 TO 124
READ(S5910) (NKSY{I1)»1=)sKSY)
1F(KSZ,EQ,0) GO TO 125
READ(5910) (NKSZ(1)»1=215KSZ)

IF(KGX.EQ,0) GD TO 126
READ(5+10) (NKGX(1)s]51,KGX)
IF(KGY,EQ,0} 6D TO 127
READ(S5910) (NKGY{1)sI=1+KGY)
IF(KGZ.EG,0) GO TN 128
READ(5910) (NKGZ(I)s121+KG2)
IF(KGSX,EQ.0) GO TO 129
READ(5910) (NKGSX(I)sI=1,KGSX)
IF(KGSY,EQ.0) GO TO 130
READ(5y10) (NKGSY(I)sI=1,KGSY}
IF(KGSZ,EQ.0) GO TO 131
READ(52103 (NKGSZ(1)sI=1yKGSZ)
CONTINUE

00 135 [s1.MAX

READ(5,15) ARED(I)s HIGH{T}s FLXCIDELY(1)2ELZ(TI6K1(I)»GIWLC])

AlCE)= BRED(I)# HIGH(])
IFCIPL,EQ,1) GO T0 250

ZIXX1(1)= BRED(I)% HIGH(I)%¥3/ 12,0
ZIYY1(I)= HIGHC(I)® BREDCI)##3/ 12,0
GO0 TO 135

CONTINUE

ZIYYL(I) = BRED(II#HIGH(T)#%3/12,0
ZIXX1(I) = HIGH(I)#BRED(I)»#3/12,0
CONTINUE

NG 140 I=1,NFLM
AR(1)=0,
Z1Xx(13=0,
21YY(]) =
EZZ(1)
EZX(1)
EZv(I)
GK(1) =
Glwll)=
CONTINUE

woaon
“ooco

DO 150 NE=z1,NELM

I = MCON(NE33)
ARC(NE) = A1(D)
ZIXX(NE) = ZIXX1(1)
ZIYY(NE) = ZIYYL(D)
EZZ(NE) = FLZ(1)
EZX(NE) = ELX{T)
EZY(NE) = ELY(I)
GK(NE) ‘= GKI(]}
GIW(NE) = GIWI(I)
CONTINUE

WRITE(6250) NODESNELMiNFyIPL,IVEC

#* *»SXsSHIVECE, 11 )
WRITE(6151) KOXsKOYsKOZrKSXsKSYKSZ

# 1 5HKSY®» I595Xs5HKSZ2915)
WRITE(6452) KGXsKGY sKGZ1KGSX1KGSYsKGSZ

WEEY REER



* 95Xy THSITA Y=e 125X THSITA Z5512)
WRITE(6,55)
55 FORMAT(1HO»2( 7HELEMENT » 5X»SHNODES.» 2Xs 3HMAT 15X 9 THAREA (M) 95X
# ITHZIXX (M) 95X THZIYY (M) 95X ))

WRITE(6456)  (1s(MCON(T5J)9d5143)9ARCII 9 ZIXXCI)#ZIYY (1) s 21, NELM)

56 FORMAT(1H »2(17+315,1P3E12.595X ))
WRITE(6+57)
57 FORMAT{1H0»3 (4HNODE » 7X» 1BHCOORDINATE (Z»XsY)510X))
WRITE(6558) (19Z{1)sX1(1),¥Y1(1)s]=1»NODE)
58 FORMAT(1H »3(14,1P3E12.2))
WRITE(6159)
59 FORMAT(LHQ »2X s 3HMAT 33Xy THBRED (M) 33X s 7HHIGHIM) y 4 X9 6HELX (M) 34X
#* GHELY (M) 346X 9 6HEL Z (M) 39X s 6HGKL(M)y BX» 7HGIW1(M) )
WRITE(6,60) (1,BREDCIISHIGHI ) oFLXCII2ELYCI)SELZ()sGKLLT)
# sGIWL(I)y I21oMAX )
60 FORMAT(1H »15,1P5E10.2,1P2E15,5 )

WRITE(64181)
181 FORMATC(1HO s 1X 9o 4HNODE s 68Xy 2HFX 98X 3 2HFY 9 BXy PHF 227X s 3HF XSy 7X» 3HF YS
#* s 7Xs3HFZS)
WRITE(65182) (1sF(ARI=5)sF(6#]-4)sF(6#I~3),FlORI-2)aF(buI=1)
#* sF(6%1)21=1NODE)
182 FORMAT(1H »1%546F10,2)

IF(KOX,EQ,0) GO TN 160
WRITE(6561)

FORMAT(1HO» BHFIXED X )

WRITE (6480) (NKOXCI)aI21,K0X )
80 FORMAT(1H»2015)

160 TF(KOY.ER,8) GO TN 161
WRITE(6162)

FORMAT(1HO» BHFIXEN Y )
WRITE(6580)  (NKOY(I)s121,KO0Y )
IF(KOZ,EQ,0) 6O TN 162
WRITE(6463)

FORMAT(LHOBHFIXED 2)
WRITE(6,80) (NKDZ(1),1=1,K02)
1F(KSX.EQ,0) GO T0 163

WRITE (6164)

FORMAT(1HOs12HF IXED SITA X)
WRITEL6380) - (NKSX{I)91=15K5X)
IF(KSY.EQ,0) GO TA l64
WRITE(6465)

FORMATC(1HO» 12HF IXEN SITA Y)
WRITEC6480) (NKSY(I)sI=14KSY)
164 IF(KSZ2,EQ,0) 6D TN 165
WRITE(6466)

FORMAT (1HO» 12HF IXEN SITA 2)
WRITE(6280)  (NKSZ(1)»1=21,KS2)
165 CONTINUE
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-

6

N

16

-

[

w

16

N

[
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16

w

o
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o

IF(KGX.EQ,0) GO TO 170
WRITE(6461)

WRITE(6,80) (NKGX{1)s121,KGX)
IF(KGY,EQ,0) GO TO 171
WRITE(6,62)

WRITE(6,80) (NKGY(1),I=1,KGY)
171 IF(KGZ,E8,0) GG TO 172

17

@

WRITE(6163)

WRITE(6180) (NKGZ(1}s121,KG2)
172 IF(KGSX,EQ,0) GO TO 173

HWRITE(6,64)

WRITE(6,80) (NKGSX{1)s121sKGSX)
173 1F(KGSY,EQ.0} GO TO 174

WRITEL6,65)

WRITE(6,80) {NKGSY(I)»121,KGSY)

non

la¥aXaXs)

nn

[2Yal

174 IF(KGSZ,EQ,0) GO TO 175

17

1

5

~

w

o

WRITE(6566)
WRITE(6480)
CONTINUE

(NKGSZ(1)21=1:KGS2)

RETURN
END
SUBROUTINE ESHAT

COMMAN  NODE sNELMyNFsNToNNy KOX KDY sKQZsKSXsKSYHKS7 »#1s IPL

COMMON  NKNX(30) yNKOY (30)9NKDZ(30) s NKSX(30)sNKSY(30)sNKSZ(30)
COMMON  KGXsKGY 9KGZ sKGSXsKGSY sKGSZaNKGX(30) s NKGY{30)»NKGZ(30)
COMMON  NKGSX(30) s WKGSY{30) yNKGS7 (307 +X1(30)»Y1(30)5Z(30),F(LAD)
COMMON  ELX(35)3FLY(35)5ELZ(35),GK1(35),GIW1(35)9A1(35),ARED(35)
COMMON  EZX(35) +EZY(35) »EZZ(35) sGK(35) »sGIW(35)sAR(35)4HIGH(35)
COMMON  ZIXX1¢35),71YY1(35), ZIXX(35) »ZIYY(35) , MCON(35,3)
COMMON  ESM(12512) sHEN{12512)50(12532)+sWN(12),WS(12)s TSM(35,12)
COMMON  DI1S(180)+RFAC(18N)» INDEX(180)+IND(180), ESG(12,12)
COMMON  OSM(1B809180)sB{180,1R0)+A(1005100393C(100)sETGR(100)
COMMON  ETGI(100),HR(100»100),11(1005100),PRR(Z)+PRID),PANC?)
COMMON 1 JGsNAsNRyIVFCs IER,N

1= MCON(M,1)
Jz MCON(M,?)

IFCIPL.GE, 1) GO TN 2
2 SOKT(Z(JI=2CT2I8##2 +(X1(J)=X1(T))Hx2)
CS = (Z2(N-2C1))I/AL
SN = (X1{J)=Y1(]))/AL
60 TO S

CONTINUE

5 SORT((Z(H=ZCIIIRR2 + (YICH)=Y1(1})%42)
€S = (Z(N)-2(1))/AL

z (YI{=YIL{I) /AL
CONTINUE

DO 10 =112
D0 10 J=1,12

ESM(I»y = 0,
ESG(I,J) = O,
HEN(I,J0) = 0,
E1xX EZX(MY 3# ZI¥X{M)

EIYY = EZY(M) % ZIYY(M}
EA = EZ2(M) % AR(M)
ELIW= E2Z(M) % GIW(M)

ESM{1s1) = 12, % EIXX/ AL%x3
ESM{1+5) = 6, # EIXX/ AL#x2
ESM(1,7) = =ESM(1s1)
ESMI1911) = ESM(1,5)
ESM(292) = 12, # EIYY/ AL##3
ESM(2:4) = -6, ¥ EIYY/ AL#2
ESM(2+8) = -ESM(2,2)
ESM(210) = ESM(2+4)
ESM(3+3) = EA/AL

ESM{3,9) s~EA/AL

ESM(444) = &4, ¥ EIYY/ AL

v &4 oL G EBNEHEHEOTHTE Y
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ESM(4,8) & 6, & EIYY/ AL#N2 ¢

ESM(4s10) s 2, ¥EIYY/AL 253”““

ESM(545) = 4, HEIXX/AL

ESM(5:7) ® =6, ¥ EIXX/ALHN2 SUBHOUTINE MAKOSM
ESM(Sy11) = 2, ¥ EIXX/AL g

ESM(646) = 12,#ELIW/ALXN3 & 6,#GK(M)/ (5.%AL) ¢

ESM(6912) = ~ESM(6+0)

COMMON  NODEsNELM,NF sNToNNy KOX,KOY3KOZoKSX,KSY,KSZ »My1PL
523:3'7))3- E?ﬂf"%i COMMON NKDX(!o).ﬁko;(za),éan(;o>,NKSX(SO),Nsttzn).NKSZ(50)
Esma'ila1 . -ESM(l’Z) COMMON  KGX,KGY sKGZ yKGSX2KGSY,KGSZyNKGX(30) sNKGY(30) 4NKGZ(30)
ESM(B, é) = ESM f'e) COMMON  NKGSX(30)sNKGSY(30)sNKGSZ(30) »X1(30)5Y1(30),Z(30)sF (1580}
ESM(o'é ESM( '3) COMMON  ELX(35),ELY(35),EL7(35),GK1(35),GIW1{35)1A1(35)BRED(33)
ESM(10 )0)=- E M(s'a) ) COMMON  E2X(35) »EZY(35) »EZZ(35) sGK(35) +GIW(35),AR(35)sHIGH(35)
E M(10,1 N in‘“’5> COMMON  ZIXX1(35),21YY1(35), ZIXX(35) #7]1YY(35) » MCON(35+3)
simfié’léi : E.M(s’b COMMON  ESM(12,12),HEN(12512),0(12,12),WN(12)5WS(12), TSM(35,12)

" sHeere) COMMON " DIS(180)REAC(180), INDEX(180)sIND(180)s ESG(12:12)
DO 20 Jsljll COMMON  DSM(180,180) +B(18051R0)sA(100+100),1C(100)EIGR(100)
1J = g+l ! COMMON  E1G1(100),DR{1D0»100)0IC1N0»100) yPRR(2)+PRII2)2PAN(2)
DO 20 KslJsl? COMMON  [JGsNASNRy IVECs [ER,N
ESM(KyJ) = ESM(JsK) g
CONTINUE <

Do 10 1=1,2
TS NTA L A E? :°<:z;§in.l)-l)*o
HEN(T s & o8 KJ = (MCON(MsJ)=1)%6
HEN(1,3) z.-SN e T Dee
HENGane) + oh JS = (J=1)6
NEMEE I Do 10 R=1s6
HEN(393) = CS bg 10 L;l:é
GO TN S5 POl kil
COMTINUE Tgt : fg:k
WEN(D13) = ¢5 JSL = UseL
35355'5? : §3 IF(1JG,GE,1) GO Tn 11

v2) s-sh OSM(KIKyKJL) = DSMCKIKeKJL) + FSM(ISK,JSL)

HEN(3,42) =z-SM osheKIK,
HEW(3,3) = CS c 0
conTInuE 11 CONTINUE

I=1 DSM(KIKyKJLY = DSM(KIKsKJL) + ESM(TSK,JSL)
Je1 R(KIKyKJLY = BIKIK,KJL) + FSG(ISKsJSL)

o 3
ngI'¥2; 12 CONTINUE
J2 = Je2 c 10 CONTINUE
00 30 11=1,12
NGO 30 Ji=J,J2 gs;U"N
HEN(1143»J1+3) = HEN(I15J1)
CONTINUE c SURBROUT [NE REARG

Iz1+3
JsJ+3 g

XF(lésg'lo) 6010 32 COMMON  NODESNELMyNF oNT NN, KOXoKOYKOZsKSX,KSY,KSZ oM, 1PL
& ; st COMMON  NKOX(30) sNKOY (30 yNKOZ(30) »NKSX(30) »NKSY(30) sNKSZ(30)
CONTINGE COMMON  KGXyKGY yKGZ 1 KGSX rKGSY,KGSZ #NKGX (30 ) sNKGY (30) 1NKGZ(30)

COMMON  NKGSX(30) sNKGSY{30) sNKGSZ(30) .x1(3oz.;1(30);2;33&§;§;22)
= COMMON  ELX(3SY»ELY(35)9EL2(35),6K1(35),GIW1{35),A1(35),

go P COMMON  EZX{35) sEZY(35) sE22(35) »GK(35) »GIW(35),AR(35)sHIGH(35)
nalqo s COMMON  ZIXX1(35)»21YY1(35)% 2ZIXX(35) s2]YY(35) » MCON(35+3)

; 'g) no COMMON  ESM(12,12)»HEN(12512),0012¢12)sWD(12)sWS(12)s TSM(35+12)
gu M N s COMMON  D]5(180)+REAC(180), INDEX(180)sIND(180)y ESG(12+12)

$hag? 2, 0ip9) ¢ HENHG DRSO COMMON  0OSM(180,180),B(180,180)»A(100,100),1C(100),EIGR(100)
gg :g 'fi"i COMMON  EGL(100)4UR(100+100),1¢1002100)3PRR(2)+PRIL2)4PAN(2)
Esn(l.j; :10 COMMON  TJGyNANB»IVEC, IERWN

.

B0 45 Kxl,12
ESM(I,J) = ESM(14J) + O(IsKIRHENIK»J)

noan
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128
129

132
134

150

155

20

=3

201

220
218

222
221

225
224

~

22

1F(1JG.GE,1) GO TO 200

DO 11 1a1yNT

INDEX(]) = 1
IF(KOX,EQ,0) GO TO 118
DO 120 [®1,KOX

Nz 6%NKDX([)=5
INDEX{N) s 0
IF(KDY,E8,0) 60 T0 121
DG 122 I=1,K0Y

N = 6HNKOY(])=4
INDEX(N) = 0
IF(K0Z,EQ,0) GO T0O 124
DD 125 1=1sK0Z

N = 6ENKOZ(})-3
INDEX(N) & 0
IF(KSX.EQ,0) 60 TO 126
DO 127 1=1sKSX

N = 6UNKSX(])~2
INDEX(N) = 0
IF(KSY,EQ,0) GO TO 129
DO 128 1=19KSY

N = 6ENKSY()=1
INDEX(N) = 0
IF(KSZ.EQ,0) 6O TN 134
D0 132 1=1eKSZ

N = 6ENKSZID)

INDEX(N) = 0

NNz

DO 150 I=1sNT
IFC(INDEX(1),FQ,0) GO TO 150
NN = NN+l

INDEX(NNY = 1

CONTINUE

DO 155 I=1.NN

1A = INDEX(D)

F(I) = FOIA)

D0 155 J=1sNN

JA 3 INDEX(J)
0SM(IsJ) = OSM{TA»JA)

GO TO 300

CONTINUE

DQ 201 [=1sNT
INDEX(1)=1

IF(KGX,EQ,0) GO 7O 218
D0 220 [=1+KGX

N = GHNKGX(1)=5
INDEX(N) = 0
IF(KGY,EQ,0) GO TO 221
00 222 1=21sKGY

N = 6UNKGY(])=&
INDEX(N) = 0
IF(KGZ.EQ,0) GO TO 224
DO 22% 1=14KGZ

N = 6% NKGZ(1)-3
INDEX(N) =-0
IF(KGSX,EQ,0) GO TO 226
DO 227 [=]4KGSX

N = 6UNKGSX(1)e2
INDEX(N) = 0

[aXaYs)

nno

[aXalal

226

228
229

23

N

234

25

=3

25

w

=9

30

140

14

-

143

15

1F(KGSY,EQ,0} 60 TO 229
DO 228 [=1:KGSY

N = 6¥NKGSY(I)=~1

INDEX{N) = 0
IF(KGSZ,EQ,0) GO TO 234
DO 232 1=21,KGSZ

N = 6¥NKGSZ(1)

INDEX{N) = 0

NN=0

DO 250 I=1sNT
IFCINDEX(]),FQ@,0) GO TO 250
NN = NN+l

INDEX(NN)Y = |

CONTINUE

00 255 J=1:0NN

1A = INDEX(I)

DY 255 J=1sNW

JA = INDEX(J)
OSM{1sJ) = OSM(TA,JA)
B(IsJ) = BCIAsJA)
CONTINUE

CONTINUE
RETURN

SURROUTINE SPLV

COMMON  NODE+NELMyNFyNT NNy KOXoKOYKOZ9KSXsKSY3KSZ sMs [PL

COMMON  NKOX¢30)»NKOY(30) 5NKO2¢30) sNKSX(30)sNKSY(30),NKSZ(30)
COMMON  KGX9KGY KGZIKGSX1KGSY JKGSZNKGX(30) 9 NKGY(30)9sNKGZ (30)
COMMON  NKGSX(30) »NKGSY(30)9NKGSZ(30) sX1(3035YL(30)52(30)+F(180)
COMMON  ELX(35),ELY(35)5ELZ(35),6K1(35)GIW1(35)1A1(35),BRFD(35)
COMMON  EZX(35) +EZY(35) »EZZ(35) +GK(35) »GIW(35)1AR(35),HIGH(35)
COMMON  ZIXX1(35),ZIYY1(35)» ZIXXt35) sZIYY(35) » MCON(351:3)
COMMON  ESM(12,12) »HEN(12212)50(12512)9WD(12)5WS(12)s TSM(35+12)
COMMON  D1S(180)sREAC(180)» INPEX(180)sIND(1B0)» ESG(12,12)
COMMON  OSM(1805180)>B(1R0,180)sAC1005100),1€(100),EIGR(100)
COMMON  EIGI(100)41URC1005100),UIC100+100),PRR(2)sPRE(2)PAN(?)
COMMON [ JGsNA,NBsIVECSIER,N

DO 140 I=1.NT
DIs¢l) = 0.

CALL MATINV

00 141 I=1yNN

REACCI) = 0, e
00 141 K=1sNN

REAC(I) = REAC(I) « QSM(UI.K)¥F(K)

DGO 143 I=z1+NN

1A = INDEXt1)

DIS(IAY = REAC(])

DO 150 131sNT
REAC(1Y = 0,

¥ L4 8L QEBNIHEFE OTHBE WY
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160
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155
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104

107

DO 155 M=lsNELM
CALL ESMAT

D0 160 I=1,2

1A = MCON(Ms 1)
WD(6¥I-5) = DIS(6#1A~5)
WD(O6H#]=4) = DIS(6#1A=4)
WD(6%]=3) = DIS(6%1A-3)
WD{6¥[=2) = DIS(6%IA=2)
WD(6¥#I-1) = DIS(6#IA=L)
WD(6¥1) = DIS(6xiA)

DO 165 21,12

Ws(1ra0,

DD 165 k=112

WSC1) = WS(TY + ESMCTWKIHWN(K)

0O 170 i=1s2

1A = MCON(M,1)

DO 170 J=1,6

IR 2 6¥(IA=1)ey

Iw 2 6%(1=1)¢y

REAC(IR) = RFAC(IR)+WS(]W)

00 155 1=1.1?

TSM(Ma 1) = 0,

Dg 155 k=112

TSM(ML) = TSM(Ms1) + HEN(IsK)HWS(K)
CONTINUE

RETURN

END

SURROUTINE MATINV

COMMON  NODE »NELM,NF ) NToNN, ROX9KOYsKDZ3KEXyKSYsKSZ 5My 1PL
COMMON  NKOX(30)sNKOY(30),NKOZ(30)sNKSX(30) sNKSY{30) sNKSZ(30)
COMMON  KGXsKGYsKGZ»KGSX»KGSYsKGSZsNKGX (303 yNKGY (30 ) sNKGZ(30)
COMMON  NKGSX(30) 3NKGSY (30),NKGSZ(30) »X1(¢30),Y1(30),2(30),F(1R0)
COMMON  ELX(35),FLY(35)sFL2(35),6K1(35)»GIW1(35)sA1(35),BRED(35)
COMMON  EZX(35) +EZY(35) ,EZZ(35) sGK(35) +GIW(35)sAR(35),H[GH(35)
COMMON  ZIXX1(35)»21YY1(35)y ZIXX(35) sZ]YY(35) » MCON(35,3)
COMMON  ESM(12412) sHENC12,12),0(12512)5WD(12),WS¢12)» TSM(35,12)
COMMON  DIS(180)sREAC(180)s INDEX(180)+IND(1B0)s ESG(12,12)
COMMON  DSM{180,180)+B(180+180)+A(1005100)s1C(100)+EIGR(100)
CoMMON. EIGI(100)»UR(1005100),ui(1005100)sPRR(2)sPRI(2)sPAN(2)
COMMON TG ,NALNB, IVEC, IER,N

DO 102 K=1yNN
IND(K3=K

DO 103 Ks1sNN

u=0,

DO 104 I=KyNN
IFCABS(OSM(I,1)),LE.U) GO TO 104
UsABS(OSM(]s1))

IR=]

CONTINUE

IF(IR,EQ.K) GO TO 106
Do 107 Js1,NN
UxOSHM(KyJ)
OSM(K¢JY2OSM( IR, )
OSM({ IRy JIBU

MR=IND(K)

nney

non

106

=3

n

109
103

112
114

11

3

11

o

IND(K)=INDCIR)

INDCIR) =MR

UsOSM(Ks1}

N1=NNe1

DO 108 J=1sN1
OSM(K9J)=DSM(Ks J+13/U
OSM{KyNN)=Y, 07U

D0 109 I=1.NN
IF(1,ER,K) GO TO 109
U=QSM( Ty 1)

DO 110 J=l,N1
OSM(1yJ)=0SM{]sJ+1)~UROSM(KJ)
OSM(IsNN) ==UHOSMIKNN)
CONTINUE

CONTINUE

DO 111 k=1sN1
IF(K.EQ,IND(K)) 60 TG 111
KlzK+1

00 112 1=K1ahN
IF(K.NE,IND(T)) GO TO 112
1R=1

GO TO 114

CONTINUE

DO 115 J=1aNN
UsGSM(JK)
0SM(JsK)2OSM(Js IR)
0SMCJr IR)=Y
INDUIRYZIND(K)
IND(K)=K

CONTINUE

RETURN

EN
SUBROUTINE OVTK

COMMON  NDDE »NELMyNF JNT NNy ¥OXsKDY>KDZsKSXsKSYsKS7 My IPL

COMMON  NKOX(30) s NKOY (30),NKOZ (303 sNKSX (30 s NKSY(30)9NKSZ(30)
COMMON  KGXsKGYsKGZsKGSXsKGSYIKGSZyNKGX{30) 2NKGY (30)»NKGZ(30)
CQMMON  NKGSX(30)sNKGSY(30)sNKGSZ(30) »X1(30)5Y1(30)»2(30)sF(1A0)
COMMON  ELX(35)»ELY(35)9ELZ(35)»6K1(35),GIWl(35)9A1(35)»BRED(35)
COMMON  EZX(35) sEZY(35) »EZZ(35) »GK(35) »GIW(35)1AR(35)+HIGH(35)
COMMON  ZIXX1(35)s21YY1(36)s ZIXX(35) #ZIYY(35) » MCON(353)
COMMON  ESM{12+123sHEN(12,12),0(12512)sWN(12)5WS(12)» TSH(35,12)
COMMON  DJS(180),REAC{180), INDEX(180),IND(180)y ESG(12s12)
COMMON  OSM(180,180)>B(1R0y1R0Y»A(100,100)»1CC100)+61GR(100)
COMMON  E1GI(100)»1R(1005100)sUIC1002100)sPRR(2)1PRI(2)sPAN(2)
COMMON  1JG,NASNR, IVECS IER,N

WRITE(65205)

205 FORMAT(1HO¢1X»>4HNODE»10XsSHDTIS Xe10XsSHDIS Ys10Xs5HDIS Zs9X

# 16HSTITA XsOXs6HSITA Ys9Xs6HSITA 2 )
WRITE(65210) (1sDISC6%I~5)sDIS(6%I=-4)sDIS(6#I-3),DI5(6%1~2)
sDIS(6%I=1)sDIS(6:#1)»[21sNODE )

#
210 FORMAT(1H ,15+1P6E15,4)

215 FORMAT(1HOs1Xs4HNODE s

WRITE(6,215)
11X>4HRE X311Xs0HRE YeliXe4HRE Z»10X

# sSHRE MX210Xs5HRE MY 10X»5HRE MZ)

WRITE(65210) (1+REAC(6#1-5)sREAC(63#]1~4),REAC(6#123),REAC(6#]1-2)
3 sREAC(6#1-1)»REAC(6%I) »181)NODE )

WRITE(6,220)

220 FORMAT{1HO»1Xe4HNELM»2X+BHNODE NO, 28Xy 7THFORCE=X,8X+ THFORCE=Y
*

+8X y THFORCE=Z s 7X s BHMOMENT =X » 7X s BHMOMENT =Y ¢ 7X » SHMOMENT =2 )
DG 225 Mm)NELM

HEPY BT
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[aYaXaXaXal

[aXa)

1A = MCON{Ms1) AL 3 SORT((Z(J)=Z(1))%H2 +(YL( D) ~YI(])I%n2)

WRITE(6,228) N’lAn(TSH("vJ)'JIlrei SN 3 (YItD=Y1(IN)/7AL
JA = MCON(M,2 CS = (Z2(J)=Z(1))/AL
WRITE(6,230) JAs{TSM{My L) 9 JsT012) c

228 FORMAT(1HO0+]5+110s1P6E15.4) 8 CONTINUE

230 FORMAT(1H »5X,110,1P6E15.4) 00 11 I=1,12

225 CONTINUE Do 11 J=1,12

HEN(IsJ) = 0

11 €S6(1,0) = 0,
WRITE(61240) c
240 FuRMAT(1uo.1x,4HNELM.11x.3HMXL.11x.3Han.11Xy3HMvL.11x.3HMvR,1ox c
»4HSEFX 910Xy 4HSEFY s 11X 3HAXL ) <
THXL = TSM(My4)
Dy 280 I=1sNT TMXR = =TSM(Ms10)
D0 280 J=lWNT THYL = TSM(M,y5)
0SM(1,J) = 0, TMYR = -TSM(My11)
280 B(1sJ} = 0, SEFX = TSM(My1)
SEFY = TSM(My2)
DO 285 M=1,NELM AXL, = TSM(My3)
TMXL1 = TSM(My4) c
TMXRL = ~TSM(My10) ¢
TMYLY = TSM{MW5) €1l = -3,0#(TMXL+TMXR)/(5,0%AL) + 0,5KSEFY
THYRL = -TSM(M,11) €12 = ~TMXR/10, - SEFYHAL/L0,
SEFX1 = TSM(Ms1) €13 = -Cl1
SEFYLl =  TSM(My2) C14 = «TMXL/10, + SEFYR®AL/10,
AXLY = TSM(Ms3) €31 = 3.0#(TMXL+TMXR)/(5,0%AL) + 0, SHSEFY
€32 = TMXR/10, + SEFY®AL/10,
WRITE(65290) MyTHXL1, TMXR1»TMYLI»TMYRLs SEFX1,SEFYl, AXL1 €33 = -3,0#(TMXL+TMXR)/(S,0%AL) = 0,5KSEFY
290 FORMAT(1HO,2X»12,1%91P7E14.3) c 34 = TMXL/10, - SEFY#AL/10
285 CONTINUE D11 = -3,0(THYL+TMYR)/ (5, 08AL) =~ 0, SHSEFX
maz2 = =TMYR/10, + SEFX#AL/10,
RETURN D13 = -pit
END D14 = ~TMYL/10, - SEFX®AL/10,
SURROUTINE EGMAT D31 = 3,08#(TMYL+TMYR)/(5,0%AL) - 0,5%SEFX
032 = TMYRZ10, - SEFXHAL/10.
D33 = ~3.0%(TMYL+TMYR)/(5,08AL) + 0,5%SEFX
034 = TMYL/10, + SEFXRAL/ZLD,
COMMON  NODE sNELMsNF sNT3NN, KOXoKOYsKOZoKSXsKSYKSZ oMy IPL ¢
COMMON  NKOX(30) sNKDY (30) yNKOZ(30) sNKSX(30) sNKSY(30)sNKSZ(30) R2 = ( ZIXX(M)+ZIYY(M) )/ AR(M)
COMMON  KGX sKGY 9KGZ»KGSX»KGSY1KGSZ yNKGX(30) sNKGY (30) s NKGZ(30) 4
COMMON  NKGSX(30) sNKGSY(30) sNKGSZ(30) »X1(30)+Y1(30)+2(30),F(1A0) ESG(1,1) 2 6,0%AXL/(5,0%AL)
COMMON  ELX(35)sELY(35)sFL2(35)»GK1(35)+GIW1{35),A1(35),BRED(3S) ESG(1,5) = AXL/10,0
COMMON  EZX(35) +EZY(35) oE22(35) »GK(35) »GIW(35)sAR(35)yHIGH(35) £8G(1,6) =
COMMON  ZIXX1(35)+Z1YY1(35), ZIXX(35) »2IYY(35) » MCON(35,3) FSG(1,7) = -ESG(1s1)
COMMON ESM(12412)sHEN(12512),0(12512),W0(12),WSt12)s TSM(35412) ESG(1,11) = AXL/10.,0
COMMON DIS(1B80),REAC(180)s INPEX(180)+IND(180)y £SG(12,12) ESG(1912) = C31
COMMON OSM(180,180)»8(180,180)»A(1009100)»1C(100)+EIGR(100) ESG(292) = ESG(1,1)
COMMON  EIGI(100)sURC100+300),uT(1005100)sPRR(Z)sPRI(2),PAN(2) ESG(254) = -AXL/10.0
COMMON T JGsNAJNB, [VECS IERSN €5G(256) = D11
ESG(248) = ESG(1,7)
ESG(2,10) = ESG(2:4)
ESG(2,12) = D31
ESG(444) = 2,#AL#AXL/15.0
ESG{4s6) = D12
1=MCON(M» ) ESG(4,8) = AXL/10,0
JeMCON(M»2) ESG(4s10) = «ALHAXL/30,0
ESG(4212) = D32
ESG(5s5) = ESG(44)
1F(IPL.GE,1) GO TO 3 ESG(5,6) = (12
AL = SGRT(1Z(J)-Z(I))ilZ XL =X1{1)I1%%2) ESG(5,7) = =AXL/10,0
€S = (Z(J)=2C1))7AL ESG(5,11) = =AL®AXL/30,0
SN & (X1(J)=X1C1))/7AL ESG(5y12) = (c32
GO TO 8 - ESG(6,6) & 6,0%R2%AXL/(5,0%AL)
ESG(6»7) = C13
3 CONTINUE ESG(648) s D13

7 &4 o £ &R EHE OB A Y
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=
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25

30

32

40

ESG(6,10) = D14
ESG(6,11) & (14
ESG(6912) = ~ESG(616)
ESG(7y7) = ESG(1+1)
ESG(7531) = -AXL/10,
€5G(7»12) = (¢33
ESG(81+8) 2 ESG(7e7)
ESG(8110) = ESG(448)
€56(A»12) = D33
ESG(10s10) = ESG(4s4)
ESG(10412) = D34
ESG(11s31) & ESG(5,5)
ESG(11+12) = (34
E5G(12+12) = ESG(646)

DO 20 J=1.11

1J 3 Js1

0p 20 K=1gs12
ESG(KyJ) = ESG(JsK)
CONTINUE

IFCIPL,GE, 1) GO TR 50
HEN(1,1) = CS

HEN(153) = =SN
HEN(2,2) = 1,0
HEN(3,1) = SN
HEN(343) .3 CS
GO TO 55
CONTINUE
HEN(1,1) = 1,
HEN(2,2) = €S
HEN{2,3) = SN

HEN(3,2) =-SN
HEN(343) = €S

CONT [NUE
1=1
J=l
CONTINUE
12 = -]+2
J2 = Je2

DG 30 f1=[,12

DO 30 Jl=JeJ?
HEN(I1435j1¢3) = HENCE1,J1)
CDNTINUE

Isl+3

JzJe3

1IF(1.6E,10) Go To 32

G0 TO0 25

CONTINUE

Dg 40 121,12

00 40 J=s1e12

0(IsJy 3 0,

DO 40 Ks1y)2

O(lsJd) = Dl1ey) + HEN(Ks I)HESG(Ks )
DO 45 ls1,12

D0 45 -Jmi,12

ESG(1.J) = 0,

DO 45 K=l1,12

noNn

[ala¥al

45

20
40

60

7

3

11

>

12

o

130
140
150

160
170

ESG(Ied) = ESG(IsJd) & O(IsKIRHEN(KsJ)

RETURN
END
SUBROUTINE ElGaR

COMMON  NODE sNELMsNF sNT 9NN, KOXoKOYsKDZsKSX#KSYsKSZ »M, [PL

COMMON  NKOX(30) sNKOY(30) yNKOZ(30)sNKSX(30) ¢NKSY{30)2NKSZ(30)
COMMON  KGX+KGYsKGZrKGSX1KGSYsKGSZaNKGX(30) 9NKGY(30)»NKGZ(30)
COMMON  NKGSX(30) sNKGSY(30) sNKGS2(30) »X1(30)sY1(30),2(30)»F(180)
COMMON  ELX(35),ELY(35)3ELZ(35)+16K1(35),GIW1(35),A1(35),BRED(35)
COMMON  E7X(35) sEZY(35) ,E22(35) sGK(35) »GIW(35)5AR(35),HIGH(35)
COMMON  ZIXX1(35)sZIYY1(35)s ZIXX(35) »ZIYY(35) » MCON(35:3)
COMMON  ESM{12,12) sHEN(12,129,0(12512)»WD(12),W5(12)s TSM(35412)
COMMON  DIS(180)»REAC(180)s INDEX(180)+IND(180)» ESG(12,12)
COMMON  DSM(180,180)sB(180+180)sA(100,100351C(100)EIGR(100)
COMMON  ETGI(100)sUR(100,100)»U1¢1005100)sPRR(2)sPRIC2)sPAN(2)
COMMON  1.JGaNASNR IVECH TERN

INTEGER Pyo

1ER=0

IF(NY 450054500,20
IF¢ NA-N ) 4500540240

IF¢ NB=N=3 ) 4500960+60
NM2 = Ne2
MzN

1F¢ M ME,L ) GO TO 70
EIGR{1) = A(191)

E1G1C1) = 0,0

GO TO 1700

IFt M,EG.2 ) 60 TD 175
D07 170 K=a1aNH2

KP1 = Ke}

1C(KPL) = 0

PIV # ABS{ A(KPLliK} )
J2KP1

KP2 = K+2

D0 110 [=KP2sN

X=ABS( . AC]sK) )

IFC %.LT,PIV ) 6o TO 110
PiV = X

J=1

CONTINUE

1FC PIV,LT,1,E~30 ) 60 TO 170
IFC J,EQ.KP1 ) GO TO 140
1C(KPL)Y=d

D0 120 1sKsN

XsA(KPIyI)

ACKPLs1) 2 ACUYI)

ACJel) = X

00 130 I=1,N

X = A(IsKP1)

ACT/KPL) ® ACTo)

A(lsJ) = X

DO 160 J=KP2sN

ACdeK) & ACJIKIZALKPLK)
D0 150 I=KPLlsN

AlJsl) B ALJe1) « ALUIKIBA(KPL, D)
D0 160 I=1,N

ACTIKP1) 3 A(]4KP1) # A(HIKIRA(L D)
CONTINUE

0.
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[a¥s)

nOo an

175

180

200

220

240

260
280

300

CONTINVE

D0 180 1z1sN

00 180 J=1sN
BlJ+3,]) = At]sJ}
€6 = 1.0Ew6

E7 = 1,0E=7

€12= 1,0E-12
H=0,5

1TMAX = 30

Nl = N-)

1F¢ N1,EQ,0 ) 60 Ta 1300
R0, 0

$20,0

D3 220 1=1+2

PAN(IY= 0,0

PRR(I)= 0,0

PRICI)= 0,0

N2 = Nlel

DG 1500 IT=1,1TMAX

IF( ABS( A(NsN1) ).LE,E12%ABS( A(N»N) )} GO T0O 1300

T=A(NLINL) = A(NSN)

U = T#T

Vo= 4,08 A(NISNIHA(NSNL)

IFC ABS(V),GE,UKE? ) 60 TO 240
EIGRINL) = A(N1sN1)

EJGRINY = A(NIN)

GO TO 280

T = UsV

IFC ABS(T).LT,E68AMAXLIC U»ABS(V) 1) Ts0,0
U = ( A(N1sN1)+AININ) 3/2,0

V = SQRT( ABS(T) /2,0

IF( T,GE,0.0) GO TO 260

EIGR(N) = U
EIGR(N1) = U
EIGI(N) =3 «V
EIGI(NL) = V
G0 TO 300

EIGRIN) = UsV

EIGRIN]1) = U~V

EIGI(N) = 0,0

EIGI(N1) = 0,0

IF( ABS( EIGR{(N1) ),GE.ABS( EIGR(N) )) GO TQ 300
T = EIGR(N1)

EJGR{N1) = EIGR(N)

EIGRIN) = 7

1F( N2,EQ,0 ) GO TO 1280

€PS = E12#¢ EIGI(N1) + ABS( EJGR(N1) ))

IFC ABS( A(N1sN2) ),LE.EPS ) GO TO 1280

1FL ABS( ACNIpN2)=PAN(1) 3,LT,ABS( A(N1,N2) JHE6 )} GO TO 1240
1F( ABS( A(NsN1)»PAN(2) ),LT,ABS({ A(NsN1) J#ES ) GO 70 1240
K=0

00 360 1%1e2
Jel+N2
1Ft ABS( EIGRCJI-PRRCIY ) o ABS( EIGI(J)-PRIC]) ), LT H¥

2 ( ABS( EIGR(J) )+ABSt EIGI(J) 1)) KzKel

36

=3

44

-3

460

500

525

515

530

2

3
660
680

650

720

760
780

860

880
900
940

PRR(E) = EIGR(M
PRI(1) = EIGI(D)
PANCT) = AlJsJ-1)

CONT INUE ,

IF( K,NELO ) GO TD 440
Re0,0

$120,0

Gg TO 500

1F(K,NE,3) GO TO 460

S = A(NyN} + A(N1IN1)
R = A(NyJNIHA(NIsNL)=A(NLSNY 3 ACNINY)
GO TO 500

R = PRR(K) # PRR(K)

S = PRR(K) + PRR(K)

IFC N,GE,4 ) GO TO 8§25
P=1
6=1
GO TD 650
DO 515 [0=2aN2
9 = N2+2-]0
IF( ABS( A(@sQ-1) ),LE.EPS ) GN TO 530
CONT INUE
Qal
IFC G,GE.N2 ) GO TN 680
101 = @+1
DD 660 [0=1Q1,N2
P = N2+101-ID
1P1 = P+l
IFC ( ABS{ A(PsP)+A({IP1s1P1)=S J+ARS( A(IP1+14+IP1} ) )
% ABS( A(PsP~1)%A(IP1,P) ),LT,EPS
ABS( A(P,PI®C AC(PsP)~S )+A(P+IPLI¥A(IP1,P)+R )) GO 10 650
CONTINUE
P=2Q

DD 1220 I=pyN1

IP1=l+1

1p2=1P1+1

ii=i-1

IFt I.,NE.P ) GO TO 720

Gl 3 ACToI)#C ACLy1)=S )*ACI» [PLIRA(CIPL,1)+R
G2 = ACLIPL,IMH( ACIPLyIPY)+ACT41)=5 )
G3 = A(IPLsI38 ALIP2,]P1)

A(IP2,1) = 0.0

GG 70 780

Gl = A(]»I1)

G2 = ALIP1+11)

1F¢ 1,LE,N2 ) GO ¥0 760

63 = 0,0

GO0 TO 780

G3 = A(IP2y11)

U = SQRT( Gl®G1+G2%G2+G3%G3 )

IF(C U ) 800,860,800

PH! = 2,0

PSI) = 0.0

P§12 = 0.0

G0 70 880

IFC GL.LT(0,0 ) Us~U

T=Gl+y

PSIl = 62/7

PS122G3/T

PHI = 2,0/(1,0+PSI11#PSI1+PS12¥PS12)
1E( 1=Q. ) 900,960,900

1F( 1=P ) 92089405920

AtT»11) = =ACla11}

v £ 4 2 £ 3 EHENHE TR OB A
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92

o

960

1040
[4

1060

1080
1100

1180

1220
1500
1240
c
1280

1300

1600

GO TO 960
LISERSRE LI

00 1040 Jz1,N

TePS11#ACIP1sJ)

IFC TLLT.N1 ) TeT+PSI2HACIP2y )

ETA = PHI#( T#AC(I»)) )

A(lsJ) = AC]sJ)-ETA

ACIP1sJ) = ACIPL,J)=PSILHETA

IFC T,LT,NY ) ACIP2yJ)sA(IP2sJ)=PSI2HETA
CONTINUE

IFC T-N1 ) 1080510601060

Ks=N

GO TO 1300

Ks1pP2

DO 1180 JsG»K

T = PS11%A(J»1P])

IFC TLLT, N1 ) T=T+PSI28AC,1P2)
ETA = PHIN( T+A(Js1) )

AtJsly = ACJs1I-ETA

A(JsIP1) = AtJyIP1I-ETARPSI]
TFC TLLT.NL ) ACJ»IP2)=ACU»IP2)-ETAXPSI2
CONTINVE .

IFC 1,6E,N2 ) GO Tn 1220
IP3z1p2+1
ETA=PHIXPSI2%A(1P3,1P2)
ACIP3,1)==FTA
ACIP351P1)==FTAXPSIL -
A(IP3,1p2)=AL[P3yIP2)-FTARPSI2

CONTINUE
CONTINUE
IFC ABS( ACNIN1) 2=ARSC A(NIINZ) ) ) 1300,1300+1280

N=N2

60 TO 1600
EIGRINIZA(N,N)
EIGI(N)=0,D

N=N1

IF( N,GT,0 ) GD TG 200

1700 N=m

1800

1900
192¢

1950

1

IF¢ IVEC,EQ,0 ) RETURN

IFC N,NE,1 ) GO TO 1800

URC1:1) = 1,0

Ultlstr = 6,0

RETURN

IF¢ N,EQ,2 ) G0 TO 1920

DO 1900 I=z1sNM2

1P2 & [+2

DO 1900 J=zIP2sN

Atdal) = BUI+340)

CONTINUE

L=l

NP1laNs]

NM1sN-1

DG 3700 JJ=1sN

EIRBEIGR(JJ)

ElIEIGICID)

IF(JJ,EQ.1) GO TO 2190

IF(EIT.EQ,0,) GO TO 2100

IF(ABS(EIR-EIGR(JJ=1)),GT,1,E-6HABS(EIR),OR,ABS(EIT+E]G|(JJ=1))
W6T.1.E~6%ABS(EII)) GO TO 2100

D0 2000 Isl1,N

2000
2100

2150
2190

2200
2210
2300

2400
2500

2600

2700
2R00

2900
3000

3100
3200

3250

3300

URCI+JJ)SURITJU~1)

Ul (I edS)==UIC ] dd-1)

G0 TO 3700

IF(ABS(EIR-EIGR(JJ—I)).GT.1.E-2#ABS(FIR).DR.ABS(FIIOEIGltJJ-l)>
WGT,1,E-2%ARSCETIY) GO TO 2190

DO 2150 . I=1,N

L=L#48828125

A(TWNPL)2FLDAT(L) /7147483648,

B(1sNP1)20,

IF(EIGI(JU),EQ.0,) GD TO 2150

L=L#48828125

BUTsNP1)=FLOAT(L /2147483648,

CONT INUE

GO TO 22190

00 2200 I=1,k

A(14NP1y=1,

B(I,NP1)=0,
1nb0=1

DO 2500 =10
IM1z]w]

IFCLL.ER,1) 1M1=l

DQ 2400 J=IMl,n

A(Tsd)zREU+3, 1)

B(l,J)=0.0

A(Ta1y=aCT»1I-EIR

B(ls1y=-£11

DO 3000 Kzl,nMy

KP1zK+1

TFCACK K IHALK 9K ) +BIK K HA(K 1K) =A(KPIsK)IHA(KP] 3K ) =H(KP] yKI#R(KP] 3K )
) 2600,2800,2800

00 2700 1sKsnNP1

X=zA(K,1)

A(Ks112A(KPL )

A(KP141)=X

X=zA(Ky 1)

BIKs1)=B(KPLs )

AIKPL1sI)=X

XA (K K)HALKIK) + R(KsKIHB(KIK)

IF(X,LT,1,E=30) GO YO 3000

PIVR=A(K K /¥

PIVI==B(KsK)/X

X2A(KPL,K)HPTVR-B(KP1,K)*¥PIVI

PIVIZA(KPLKI¥PIVI+B(KP12K)HPIVR

PJVR2X

00 2900 JaKP1,nP}

A(KPLy J)ZALKPLyJ) ~ACK, J)RPTVRR(Ks ) %PIVI

BIKP1yJ)ZBKPL,J)=A(Ks JIRPIVI=R{Ks JIXPIVR

CONT INVE

DO 3300 I=1,N

JsNelel

IF(1,E8,1) 60 TO 3200

JP1sJdel

DO 3100 K=JP1,N

A(JINPL) AL INPLY ~AL S KIRACKINPI ) +B(JpK)I#B(KsNPL D

BCJINPLI=B(JINPLI AL SsKIHBIKINPL) ~B(JsKIHA(KINP])

XSACI 9 JIRACIII+B( I JIUB(J9 )Y

IF(X,6T,1,E=20) GO TO 3250 °

IF(EIR,EQ,0,,AND.ET1.EQ,0,) EIRS1,E-5

EIR3EIRKL, 000005

EfI=EII#1,000005

G0 TO 1550

Atdsdy=at s d/x

B(JrJ)m=B(JrJ)/X

X2ACJpJIHA(SINPLIwB(Js JIHB(JoNPL)

BLUINPL) 2ACUr NIHBCSINPLI+B L9 JYHACISNPL)

ACJINPL) =X

<L

R EHET
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Xe0,
DO 3350 I=1sN

3350 X=X#ABS( A(IsNPL) ) + ABSC B(1,NP1) )
DO 3360 121N
ACIsNP1) = A(]sNP1)/X

3360 B(I,NP1) = B(IsNPLI/X
IF(INDD,EQ,2) 6O TO 3400
INDD = [NOD+1
GO TO 2300

3400 DO 3500 I=1,N

. URCTrJJ) = ACIoNPLY

3500 UICIsgJ) = BCIWNPY)

3700 CONTINUE

IFC NJER.2 ) GO TQ 4250
DO 4200 L=1yNM2
KaNM2+] =L
KP1sK+el
KP2:K+2
DO 4000 JzKP2yN
DO 4000 I=z1,N
URIJIZURIJ II+A( S KIHRUR(KPL,T)
4000 UI1CJIrD)=UT(Jo1)+AC(I2KOIHUT(KPL,T)
Jz2ICIKP1)
IF(J,EQ,0) 60 TO 4200
B0 4100 121N
XzURCJy 1)
UR(Js [ISURIKPLS )
UR(KP1s1)2X
X2UT{Je )
UItJeI) = UI(KPL, 1)
4100 UICKPLsI) = X
4200 CONTINUE
4250 CONTINUE

DO 4400 J=1sN
X=0,
DO 4300 1=1,N
Y = URCIsJIHURIT Y)Y + UILT 0301 L1,))
IFCY,LE,X) GO TC 4300
X=Y
K=1
4300 CONTINUE
PIV = UR(KsJIHUR(K s JI+UT (K JIRUT (K JD
X 3 UR(K»JI/PIV
Y zaUl{Ks J3/PIV
DO 4400 I=z1sM
PIV = UR{]sDV#X =Ul(lyJd)ny
UI(IeYY = URCT IRY » UIC]s ) %X
4400 UR(I:J) = PIV
GO To 5000
4500 1ER=3
WRITE(691) NyNAsNG
1 FORMAT(1HOs'(SUBR, EIGAR) INVALIN ARGUMENT, NaNASNR =1,15,
2 TetrI5aty 515 )
5000 RETURN
END
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